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Exercise

1. Write the power set of the set A={a,b}

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6uAhExBdh1qO
https://dl.doubtnut.com/l/_TEI7vGWGOTcE

2. The range of the function f(z) = /9 — z?

° Watch Video Solution

3. Convert 300° into radian measure.

° Watch Video Solution

4.Find the modulus of complex number 2 — 5:

° Watch Video Solution



https://dl.doubtnut.com/l/_TEI7vGWGOTcE
https://dl.doubtnut.com/l/_wLcn18BtMgRR
https://dl.doubtnut.com/l/_SFqhVXlzW6tX
https://dl.doubtnut.com/l/_hcERUtHQNnEi

5.1f"Cs = "C5 find the value of 'n".

O Watch Video Solution

2
6. If n*h term of sequence is a,, = Z—n,then find

T h term

° Watch Video Solution

7.Find the slope of the line passing through the

points (3,-2) and (7,-2).

° Watch Video Solution



https://dl.doubtnut.com/l/_hcERUtHQNnEi
https://dl.doubtnut.com/l/_lsGADhMGAVau
https://dl.doubtnut.com/l/_Rb4XbtDoy3IF

8. Write the negotion of the statement " ,/2is a

rational number".

° Watch Video Solution

9. Define "Event" of a random experiment.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rb4XbtDoy3IF
https://dl.doubtnut.com/l/_BHDkFpkoQZ4K
https://dl.doubtnut.com/l/_uGE7HB8rb9r7

10. Let U={1,2,3,4,5,6,7,8,9}, A={1,2,3,4} and B=

{3,4,5,6}Find (A U B)

° Watch Video Solution

1. Given A ={2,3}, B = {x:zis solution of

22 +52+6=0find AUB?

° Watch Video Solution

12. Let f= R — R and g: R — R defined by

f(x) =z +1,g(x) = 2z — 3.Find


https://dl.doubtnut.com/l/_zWpOYYnwdBDb
https://dl.doubtnut.com/l/_4FrX2LhHT1F8
https://dl.doubtnut.com/l/_Bl4xcA5EWNA6

(f +9)(z) and (f — g)(z).

° Watch Video Solution

13. Find the radius of the circle in which a central

angle of 60° intercepts an arc of length 37.4 cm

22
(usem = —)

7

° Watch Video Solution

14. Find the value of cos 75°

° Watch Video Solution



https://dl.doubtnut.com/l/_Bl4xcA5EWNA6
https://dl.doubtnut.com/l/_ci6x6vC4dPYO
https://dl.doubtnut.com/l/_qijyqCzhIgUy

15. Find the multiplicative inverse of /5 + 3i

° Watch Video Solution

16. Solve 7Tx + 3 < bx + 9. Show the graph of

the solution on number line.

o Watch Video Solution

17. Find the equation of a line perpendicular to

the line £ — 2y + 3 = 0 and passing through


https://dl.doubtnut.com/l/_qijyqCzhIgUy
https://dl.doubtnut.com/l/_LrGnpz85pbqJ
https://dl.doubtnut.com/l/_MwZjWba39b7f
https://dl.doubtnut.com/l/_m18EjsDbHGqF

the point (1,-2)

° Watch Video Solution

18. Find the distance between the parallel lines

3r —4dy+7=0and3x —4y+5=10

° Watch Video Solution

19. Are the points A ( 3,6,9) ,B( 10,20, 30, ) and C(

25,- 41, 5) the vertices of a right angled triangle?

° Watch Video Solution



https://dl.doubtnut.com/l/_m18EjsDbHGqF
https://dl.doubtnut.com/l/_EZuMHp2syXTg
https://dl.doubtnut.com/l/_OWAGpzShNoEr

x2 —4
20. Evaluate lim
r—2 | 23 — 4x2 + 4z

o Watch Video Solution

21. Write the contrapositive and converse of the
statement. If two lines are parallel, then they do

not intersect in the same plane.

° Watch Video Solution



https://dl.doubtnut.com/l/_OWAGpzShNoEr
https://dl.doubtnut.com/l/_TiXrBVTAOBM6
https://dl.doubtnut.com/l/_WgsjJhfwJ34L

22. Write the mean of the given data

6,7,10,12,13,4,8,12 ?

° Watch Video Solution

23. Given P(A)=0.5,P(B)=0.35 and

P(AUB) =0.7Find P(AN B)

° Watch Video Solution

24. In a class of 35 students, 24 like to play

cricket and 16 to play football. Also each student


https://dl.doubtnut.com/l/_H3R2uJdaIOHt
https://dl.doubtnut.com/l/_oBs6Qs3jBlOn
https://dl.doubtnut.com/l/_GxtPAJWkIr2y

like to play atleast one of the two games. How
many students like to play both cricket and

football ?

0 Watch Video Solution

25. Determine the domain and range of the
relation R defined by

R={(x,x+5) : x in {0,1,2,3,4,5}}

° Watch Video Solution



https://dl.doubtnut.com/l/_GxtPAJWkIr2y
https://dl.doubtnut.com/l/_G3txgmf4wSXq

26. cos 4xr = cos 2x

° Watch Video Solution

27. Express /3 + i in polar form ?

° Watch Video Solution

28.2z  +x++/2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_6kGk2PzR5H9l
https://dl.doubtnut.com/l/_5kJ2NYEW2erl
https://dl.doubtnut.com/l/_bs4gHtkCWuTv
https://dl.doubtnut.com/l/_vxPKN6qcm9yk

29. How many words, with or without meaning
can be made from the letters of the word
MONDAY, assuming that no letter is repeated, if.
(i) 4 leters are used at a time,

(ii) all letters are used at a time

(iii) all letters are used but first letter is a vowel

o Watch Video Solution

30. How many words, with or without meaning

can be made from the letters of the word


https://dl.doubtnut.com/l/_vxPKN6qcm9yk
https://dl.doubtnut.com/l/_ykhPJau94rsp

MONDAY, assuming that no letter is repeated, if.
(i) 4 leters are used at a time,
(ii) all letters are used at a time

(iii) all letters are used but first letter is a vowel

o Watch Video Solution

31. How many words, with or without meaning
can be made from the letters of the word
MONDAY, assuming that no letter is repeated, if.
(i) 4 leters are used at a time,

(ii) all letters are used at a time


https://dl.doubtnut.com/l/_ykhPJau94rsp
https://dl.doubtnut.com/l/_4WXdgqGgHb81

(iii) all letters are used but first letter is a vowel

?

° Watch Video Solution

32. Find the term independent of x in the

expansion of ((3x"2)/2-1/(3x))"6.

o Watch Video Solution

33. If the sum of three numbers in AP is24 and

their product is 440,find the numbers?

| o |


https://dl.doubtnut.com/l/_4WXdgqGgHb81
https://dl.doubtnut.com/l/_VmwOkPMIMLZE
https://dl.doubtnut.com/l/_YnW5V3np56As

[ & Watch Video Solution

34. Which term of the
1 1 ) I

—, —, P L. ?
3 27

19683

O =

sequence

° Watch Video Solution

35. Find the co-ordinate of the focus ,equation

of the directrix and length of the Latus Rectum

of the Parabola (y2 = 8:13) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YnW5V3np56As
https://dl.doubtnut.com/l/_lAeAQME3F0SV
https://dl.doubtnut.com/l/_QQ1pVoviMNve
https://dl.doubtnut.com/l/_EHBuj4gAtkue

36. Find the derivative of sin x with respect to x

from 1st principal ?

° Watch Video Solution

37. Verify by the method of contradiction that

/7 is irrational number

° Watch Video Solution

38. Consider the experiment of rolling die. Let A

be the event 'getting a prime number'. B be the


https://dl.doubtnut.com/l/_EHBuj4gAtkue
https://dl.doubtnut.com/l/_mPqOF4KmKMra
https://dl.doubtnut.com/l/_g8IqGUwUFGrJ

event 'getting an odd number'. Write the sets
representing the events (i) A or B (ii) A and B (iii)

A but not B (iv) 'not A.

o Watch Video Solution

39. Consider the experiment of rolling die. Let A
be the event 'getting a prime number'. B be the
event 'getting an odd number'. Write the sets
representing the events (i) A or B (ii) A and B (iii)

A but not B (iv) 'not A.

° Watch Video Solution



https://dl.doubtnut.com/l/_g8IqGUwUFGrJ
https://dl.doubtnut.com/l/_GOF0MP1r8ti4

40. Consider the experiment of rolling die. Let A
be the event 'getting a prime number'. B be the
event 'getting an odd number'. Write the sets
representing the events (i) A or B (ii) A and B (iii)

A but not B (iv) 'not A.

o Watch Video Solution

41. Consider the experiment of rolling die. Let A
be the event 'getting a prime number'. B be the

event 'getting an odd number'. Write the sets


https://dl.doubtnut.com/l/_pbVBNhJatDb6
https://dl.doubtnut.com/l/_Xz8zQ0Um6vei

representing the events (i) A or B (ii) A and B (iii)

A but not B (iv) 'not A.

° Watch Video Solution

42. A committee of two persons is selected from
two men and two women.What is the probability
that the committee will have (i) no men (ii)two

men

° Watch Video Solution



https://dl.doubtnut.com/l/_Xz8zQ0Um6vei
https://dl.doubtnut.com/l/_LK9YqKY9K8DJ

43. A committee of two persons is selected from
two men and two women. What is the
probability that the committee will have (a) no

man? (b) one man? (c) two men?

° Watch Video Solution

44. Define a modulus function.f the function
f:R — R is defined by f(z) = |z|draw the
graph of the function Write the domain and

range of f.(R is the set of real numbers).

° Watch Video Solution



https://dl.doubtnut.com/l/_U3EmWUbkavHq
https://dl.doubtnut.com/l/_42wcIZXYNQHU

45, Prove that

sinbxr — 2sin3x + sinx

= tanzx
COS HDxr — cos x
° Watch Video Solution
46.
12 492 4 32 +n2:n(n+1)(2n+1)

6

° Watch Video Solution



https://dl.doubtnut.com/l/_42wcIZXYNQHU
https://dl.doubtnut.com/l/_vJCPi5SqcYit
https://dl.doubtnut.com/l/_w18xZwBOgW04

47. Solve the inequalities  graphically

3 +4y <60,z +3y <30,z >0,y > 0.

o Watch Video Solution

48. What is the number of ways of choosing 4
cards from a pack of 52 playing cards? In how
many of these

(i) four cards are of the same suit,

(i) four cards belong to four different suits,

(iii) are face cards,


https://dl.doubtnut.com/l/_jDzCdJF5Gogp
https://dl.doubtnut.com/l/_hJPmDarLe4KK

(iv) two are red cards and two are black cards,

(v) cards are of the same colour?

o Watch Video Solution

49. What is the number of ways of choosing 4
cards from a pack of 52 playing cards? In how
many of these

(i) four cards are of the same suit,

(i) four cards belong to four different suits,

(iii) are face cards,

(iv) two are red cards and two are black cards,

(v) cards are of the same colour?


https://dl.doubtnut.com/l/_hJPmDarLe4KK
https://dl.doubtnut.com/l/_6RrUn6Dkh8NH

o Watch Video Solution

50. What is the number of ways of choosing 4
cards from a pack of 52 playing cards? In how
many of these

(i) four cards are of the same suit,

(i) four cards belong to four different suits,

(iii) are face cards,

(iv) two are red cards and two are black cards,

(v) cards are of the same colour?

° Watch Video Solution



https://dl.doubtnut.com/l/_6RrUn6Dkh8NH
https://dl.doubtnut.com/l/_i4D5sqsO7yO0
https://dl.doubtnut.com/l/_wvyRNVL8gVgu

51. What is the number of ways of choosing 4
cards from a pack of 52 playing cards? In how
many of these

(i) four cards are of the same suit,

(ii) four cards belong to four different suits,

(iii) are face cards,

(iv) two are red cards and two are black cards,

(v) cards are of the same colour?

° Watch Video Solution



https://dl.doubtnut.com/l/_wvyRNVL8gVgu

52. State and prove Bionomial theorem for any

positive integer n.

° Watch Video Solution

53. Derive the equation of a straight line having
the intercepts 'a’ & 'b' on the X ane Y-axes
respectively. Hence find the equation of the line
intercepts -3 and 2 on the X and Y-axes

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_N6ctEtdMX5f5
https://dl.doubtnut.com/l/_y98gDSUgh9St

54. Find the co-ordinates of the point P which
divides the line segment joining the points A ( 1,

-2,3)and B (3,4 -5) internally in the ratio 2:3

° Watch Video Solution

. sin x
55. Prove that lim
rz—0 xIr

— 1,where x is in

) . sind4x
radian and hence evaluate: lim — i
r—0 Sin2x

° Watch Video Solution



https://dl.doubtnut.com/l/_Ipb3kzwx3Z3f
https://dl.doubtnut.com/l/_aGgCpKeyQhKI

56. (a)Derive geometrically that
cos(x + y) = cos x cos y — sin x sin y.Hence

deduce the valueof cos 75°

° Watch Video Solution

57. Find the sum to n terms of the series ,

5+11+19+29+41...

° Watch Video Solution



https://dl.doubtnut.com/l/_bKK4E2QPNXN7
https://dl.doubtnut.com/l/_8vlPA25nYNHT

58. Derive the equation of the ellipse in the form

1132

y
—2—|—b—=1.

° Watch Video Solution

. .. T + cosT .
59. Find the derivative of with
tanx

respect to x

° Watch Video Solution



https://dl.doubtnut.com/l/_XXfzS02e0VeQ
https://dl.doubtnut.com/l/_68kToS3p4FFW

